

η -Duals of Some Double Sequence Spaces

K. B. Gupta^{1*} and Ashfaque A. Ansari²

¹Department of Mathematics, St. Andrew's College, Gorakhpur-273001, India

²Department of Mathematics and Statistics, D.D.U. Gorakhpur University, Gorakhpur - 273009, India

Abstract

P. Chandra and B.C. Tripathy [13] have generalized the notion of the köthe-toeplitz dual of sequence spaces on introducing the concept of η -dual of order r , for $r \geq 1$ of sequence spaces. B.C. Tripathy and B. Sharma [3] have introduced the notion of η -dual of order r , for $r \geq 1$ of double sequence spaces. Ansari and Gupta [1] have generalized the notion of the köthe-Toeplitz dual of sequence spaces on introducing the concept of η -dual of order r , for $0 < r \leq 1$ of sequence spaces. In this paper, we have defined and determined the η -dual of some double sequence spaces for $0 < r \leq 1$ and have established their perfectness in relation to η -dual for $0 < r \leq 1$.

Keywords: α -dual, η -dual, perfect space, Double sequence, Bounded variation, Regular convergent, $2I_r$ -space.

INTRODUCTION

A sequence space is defined to be a linear space of sequences as its element with respect to the coordinate wise addition and scalar multiplication. It is a scalar sequence space or a vector sequence space according as the sequences consists of scalar (real or complex) or vectors taken from a vector space. A sequence of the form $(a_k)_{k=1}^{\infty}$ will be called a single sequence and a sequence of the form $(a_{mn})_{m,n=1}^{\infty}$ will be called a double sequence or a matrix.

Köthe and Toeplitz [8] introduced the idea of dual sequence space, whose main results concerned with \mathbb{R} -duals. Later on it was studied by P. Chandra and B.C. Tripathy [13] Cook [5], Kamtham and Gupta [7], Maddox [10], Lascarides [9], Okutoyi [12] and many others. P. Chandra and B.C. Tripathy [13] have generalized the notion of α -duals on introducing the notion of η -duals of order r , for $r \geq 1$ of sequence spaces and Ansari & Gupta [1], have generalized the notion of α -duals on introducing the notion of η -duals of order r , for $0 < r \leq 1$ of sequence spaces.

Browmich [04] introduced the notion of double sequence spaces and Hardy [6] introduced the notion of bounded variation double sequences spaces. Later on it was studied by B.C. Tripathy and B. Sarma [3], Basarir and Sonalean [2], Tripathy, Choudhary and Sharma [14], Moricz [11] and many others.

In this paper, the space of all, bounded, convergent in Pringsheim's sense, regularly null, absolutely summable, p -absolutely summable, finite, bounded variation regularly convergence, Null in Pringsheim's sense, eventually alternating and strongly p -cesaro summable double sequence spaces are denoted

by $2\omega, 2I^{\infty}, 2c, 2c^R, 2c_0^R, 2I^1, 2I^p, 2\phi, 2bv, 2\sigma, 2\omega p$ respectively and a double sequence is denoted by (a^{mn}) or (x^{mn}) according as elements of η -dual and element of given spaces respectively.

Throughout the article, the sums without limit means that summation is from $m = 1$ to ∞ and $n = 1$ to ∞ .

List of some double sequence spaces, whose \mathbb{R} -dual will be obtained in this paper are :

1. $2c_0^R = \{ \langle a^{mn} \rangle \in 2\omega : a^{mn} \rightarrow 0 \text{ as } \min(m, n) \rightarrow \infty \}$
2. $2c^R = \{ \langle a^{mn} \rangle \in 2\omega : a^{mn} \rightarrow 0 \text{ as } \max(m, n) \rightarrow \infty \}$
3. a. $2c^R = \{ \langle a^{mn} \rangle \in 2\omega : (a) \lim_{n \rightarrow \infty} a^{mn} = L^m, \text{ where } L^m \in c \text{ for each } m \in N \}$
 b. $\lim_{m \rightarrow \infty} a^{mn} = J^n, \text{ where } J^n \in c, \text{ for each } n \in N \}$
4. $2c = \{ \langle a^{mn} \rangle \in 2\omega : a^{mn} \rightarrow L \text{ as } \min(m, n) \rightarrow \infty \text{ for some } L \in c \}$
5. $2I^{\infty} = \{ \langle a^{mn} \rangle \in 2\omega : \sup_{m,n} |a^{mn}| < \infty \}$
6. $2I^r = \{ \langle a^{mn} \rangle \in 2\omega : \sum_m \sum_n |a^{mn}|^r < \infty, \text{ where } r \text{ is a real no. such that } 0 < r < \infty \}$
7. $2bv = \{ \langle a^{mn} \rangle \in 2\omega : \sum_m \Delta^m a^{m,n} < \infty, \sum_n \Delta^n a^{m,n} < \infty \text{ and } \sum_m \sum_n \Delta^{m,n} a^{m,n} < \infty \}$

where $\Delta^m a^{m,n} = a^{m,n} - a^{m+1,n}$, $\Delta^n a^{m,n} = a^{m,n} - a^{m,n+1}$ and $\Delta^{m,n} a^{m,n} = \Delta^n a^{m,n} - \Delta^n a^{m+1,n}$. $2bv_0 = 2bv \cap 2c_0$.

$$8. 2\omega p = \{ \langle a^{ij} \rangle \in 2\omega : \lim_{m \rightarrow \infty} \frac{1}{mn} \sum_{i=1}^m \sum_{j=1}^n |a_{ij} - L|^p = 0 \frac{1}{mn}$$

for some $L \in c$, and p is a real no. }

9. The space (2σ) of all eventually alternating double sequences is defined by

Received: Jan 2, 2012; Revised: Jan 12, 2012; Accepted: Jan 28, 2012 .

*Corresponding Author

K. B. Gupta
 Department of Mathematics, St. Andrew's College, Gorakhpur-273001, India

Tel: +91-9415500371.

Email: dr.kbgupta77@gmail.com

$2\sigma = \{ \langle a^{mn} \rangle \in 2\omega : a^{mn} = -a^{m, n+1} \text{ for all } n \geq n^0 \text{ and } a^{mn} = -a^{m+1, n} \text{ for all } m \geq m^0 \}$

The spaces 2_c^R , $2_{c^0}^R$, 2_c^R , $2_c \cap 2_l^\infty$, $2_{c^0} \cap 2_l^\infty$ and 2_l^∞ are normed linear spaces with the norm given by

$$\| \langle a^{nk} \rangle \| = \sup_{m, n} |a^{mn}|$$

from the above definition, it is clear that

$$2_c^R \subset 2_c \cap 2_l^\infty \subset 2_l^\infty (2_c)$$

$$\text{and } 2_{c^0}^R \subset 2_{c^0} \cap 2_l^\infty \subset 2_l^\infty (2_{c^0})$$

Definition 1. The α -dual of a subset E of 2ω is defined as $E^\alpha = \{ \langle a^{mn} \rangle \in 2\omega : \sum_m \sum_n |a_{mn} x_{mn}| < \infty \text{ for all } \langle x^{mn} \rangle \in E \}$

Definition 2. Let E be a non-empty subset of 2ω and $r \geq 1$. Then η -dual of order r of E is denoted by E^η and defined by B.C. Tripathy and B. Sarma [3] as $E^\eta = \{ \langle a^{nk} \rangle \in 2\omega : \sum_m \sum_n |a_{mn} x_{mn}|^r < \infty \text{ for all } \langle x^{mn} \rangle \in E \}$

Taking $r = 1$ in above definition, we also get the α -dual of E .

A non-empty subset E of ω is said to be perfect or η -reflexive with respect to η -dual if $E^{\eta\eta} = (E^\eta)^\eta = E$.

Definition 3. Let E be a non-empty subset of 2ω and $0 < r \leq 1$; then we [1] define the η -dual of order r of E as

$$E^\eta = \{ \langle a^{mn} \rangle \in 2\omega : \sum_m \sum_n |a_{mn} x_{mn}|^r < \infty, \text{ for all } \langle x^{mn} \rangle \in E \}$$

Taking $r = 1$ in above definition, we also get the α -dual of E . Also, a non-empty subset E of ω is said to be perfect or η -reflexive with respect to η -dual if $E^{\eta\eta} = E$. In this paper, the sum without limit means that the summation is from $m = 1$ to ∞ and $n = 1$ to ∞ .

MAIN RESULTS

The proof of the following Lemma is obvious in view of the definition of η -dual of double sequences.

Lemma (1) :

- (i) E^η is a linear subspace of 2ω for every $E \subset 2\omega$.
- (ii) $E \subset F$ implies $E^\eta \supset F^\eta$
- (iii) $E \subset E^{\eta\eta}$ for every $E \subset 2\omega$.

Theorem 1. $(2_l^r)^\eta = 2_l^\infty$ and $(2_l^\infty)^\eta = 2_l^r$. The spaces 2_l^r and 2_l^∞ are perfect spaces. where $0 < r \leq 1$.

Proof : First, we shall show that $(2_l^r)^\eta = 2_l^\infty$.

where, $(2_l^r)^\eta = \{ \langle a^{mn} \rangle \in 2\omega : \sum_m \sum_n |a_{mn} x_{mn}|^r < \infty \text{ for all } \langle x^{mn} \rangle \in (2_l^r) \}$

Let $\langle a^{mn} \rangle \in 2_l^\infty$ and $\langle x^{mn} \rangle \in 2_l^r$.

$$\Rightarrow \sup_{m, n} |a^{mn}| < \infty \text{ and } \sum_m \sum_n |x_{mn}|^r < \infty$$

$$\Rightarrow \sup_{m, n} |a^{mn}|^r < \infty \text{ and } \sum_m \sum_n |x_{mn}|^r < \infty$$

$$\therefore \sum_m \sum_n |a_{mn} x_{mn}|^r = \sum_m \sum_n |a_{mn}|^r \cdot |x_{mn}|^r$$

$$\leq \left(\sup_{m, n} |a_{mn}|^r \right) \left(\sum_m \sum_n |x_{mn}|^r \right) < \infty$$

$$\Rightarrow \sum_m \sum_n |a_{mn} x_{mn}|^r \text{ converges for every } \langle x^{mn} \rangle \in 2_l^r.$$

which shows that $\langle a^{mn} \rangle \in (2_l^r)^\eta$. Therefore, $2_l^\infty \subset (2_l^r)^\eta$

For the converse, Let $\langle a^{mn} \rangle \notin 2_l^\infty$

Then there exists a single sequence $\langle a^i, n_i \rangle$ such that $a^i, n_i \geq i^s$ for some fixed real number $s > \frac{1}{r}$. where i is a positive integer. Consider a double sequence $\langle x^{mn} \rangle$ which is defined as

$$x^{mn} = \begin{cases} \frac{1}{i^s} & \text{if } m = i, n = n_i, i \in \mathbb{N} \\ 0, & \text{otherwise} \end{cases}$$

$$\text{Then } \sum_m \sum_n |x_{mn}|^r = \sum_{m=n=n_i} \left| \frac{1}{i^s} \right|^r$$

$$= \sum_{i=1}^{\infty} \frac{1}{i^{rs}} < \infty \text{ since } rs > 1.$$

$$\Rightarrow \langle x^{mn} \rangle \in 2_l^r$$

$$\text{But, } \sum_m \sum_n |a_{mn} x_{mn}|^r \geq \sum_{i=1}^{\infty} \left| \frac{1}{i^s} \cdot i^s \right|^r = \infty$$

$$\Rightarrow \langle a^{mn} x^{mn} \rangle \notin 2_l^r$$

$$\text{Then, } \langle a^{mn} \rangle \notin (2_l^r)^\eta$$

$$\text{Hence } (2_l^r)^\eta \subset 2_l^\infty$$

$$\text{Thus, } (2_l^r)^\eta = 2_l^\infty.$$

Similarly, we can prove that $(2_l^\infty)^\eta = 2_l^r$

Furthermore,

$$\text{Since } (2_l^\infty)^{\eta\eta} = \left[(2_l^\infty)^\eta \right]^\eta = [2_l^r]^\eta = 2_l^\infty$$

$$\text{and } (2_l^r)^{\eta\eta} = \left[(2_l^r)^\eta \right]^\eta = [2_l^\infty]^\eta = 2_l^r$$

Therefore, the spaces 2_l^∞ and 2_l^r are perfect.

Theorem 2. $(2_c^R)^\eta = (2_{c^0}^R)^\eta = 2_l^r$. The spaces 2_c^R and $2_{c^0}^R$ are not perfect, where $0 < r \leq 1$.

Proof : Since $2_{c^0}^R \subset 2_c^R \subset 2_l^\infty \subset 2_l^r$

By Lemma 1 (ii) and theorem (1),

$$2I^r = (2I^\infty)^\eta \subset (2I^\infty)^R \subset (2I^0)^R \subset (2I^0)^R \eta$$

Hence, In order to prove the theorem, It is sufficient to show

$$\text{that } (2I^0)^R \subset 2I^r.$$

Let $a^{mn} \notin 2I^r$.

Then we can find sequences $\langle m^i \rangle$ and $\langle n^i \rangle$ of natural numbers with $m^0 = 1, n^0 = 1$ such that

$$\sum_{m=1}^{m_i} \sum_{n=1}^{n_i} |a_{mn}|^r - \sum_{m=1}^{m_{i-1}} \sum_{n=1}^{n_{i-1}} |a_{mn}|^r > \frac{1}{(i+1)^{r/2}}, i = 0, 1, 2, 3, \dots$$

Define a sequence (x^{mn}) by

$$x^{mn} = \frac{1}{(i+1)^{r/2}} \text{ for } m^{i-1} < m \leq m^i \text{ and } n^{i-1} < n \leq n^i, \text{ for all } i \in \mathbb{N}.$$

Then $(x^{mn}) \in 2I^0$

Now,

$$\begin{aligned} \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} |a_{mn} x_{mn}|^r &= \sum_{i=0}^{\infty} \left(\sum_{m=1}^{m_i} \sum_{n=1}^{n_i} |a_{mn} x_{mn}|^r - \sum_{m=1}^{m_{i-1}} \sum_{n=1}^{n_{i-1}} |a_{mn} x_{mn}|^r \right) \\ &= \sum_{i=0}^{\infty} \frac{1}{(1+i)^3} \left(\sum_{m=1}^{m_i} \sum_{n=1}^{n_i} |a_{mn}|^r - \sum_{m=1}^{m_{i-1}} \sum_{n=1}^{n_{i-1}} |a_{mn}|^r \right) \\ &> \sum_{i=0}^{\infty} \frac{1}{(1+i)^3} \frac{1}{(1+i)^2} = \sum_{i=0}^{\infty} \frac{1}{(1+i)^5} = \infty \text{ (because } 0 < \frac{5r}{6} < 1) \end{aligned}$$

$$\text{Thus } \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} |a_{mn} x_{mn}|^r = \infty$$

$$\text{Then } (a^{mn}) \notin (2I^0)^R$$

$$\text{Hence we have } (2I^0)^R \subset 2I^r$$

Thus, It is proved that

$$(2I^r)^\eta = (2I^0)^R = 2I^r$$

Further more,

$$\text{since } (2I^r)^\eta = [(2I^r)^\eta]^\eta = [2I^r]^\eta = 2I^\infty \neq 2I^r$$

$$\text{and } (2I^r)^\eta = [(2I^r)^\eta]^\eta = [2I^r]^\eta = 2I^\infty \neq 2I^r$$

Therefore, the spaces $2I^R$ and $2I^0$ are not perfect.

Theorem 3. $(2bv)^\eta = (2bv^0)^\eta = 2I^r$. The spaces $2bv$ and $2bv^0$ are not perfect. where $0 < r \leq 1$

Proof : Since, $2bv^0 \subset 2bv \subset 2I^\infty$

By Lemma 1 (ii) and theorem 1,

$$2I^r = (2I^\infty)^\eta \subset (2bv)^\eta \subset (2bv^0)^\eta$$

Then, In order to prove the theorem, It is sufficient to show

$$\text{that } (2bv^0)^\eta \subset 2I^r$$

Let $(a^{mn}) \notin 2I^r$

Then we can find a sequence (n^k) of natural numbers such that $n^1 = 1$ such that

$$\sum_{m=1}^{\infty} \sum_{n=n_k}^{n_{k+1}-1} |a_{mn}|^r > k^r \text{ for all } k = 1, 2, 3, 4, \dots$$

Define a sequence (x^{mn}) by

$$x^{mn} = \frac{1}{k} \text{ if } n^k \leq n \leq n^{k+1} \text{ for all } k = 1, 2, 3, \dots$$

Then

$$\begin{aligned} \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} |\Delta x_{mn}| &= \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \left(\sum_{n=n_k}^{n_{k+1}-1} |\Delta x_{mn}| \right) \\ &= \sum_{m=1}^{\infty} \sum_{k=1}^{\infty} \left(\sum_{n=n_k}^{n_{k+1}-1} |x_{mn} - x_{m,n+1} - x_{m+1,n} + x_{m+1,n+1}| \right) \\ &= \sum_{m=1}^{\infty} \sum_{k=1}^{\infty} \left(\sum_{n=n_k}^{n_{k+1}-1} \left| \frac{1}{k} - \frac{1}{k+1} - \frac{1}{k} + \frac{1}{k+1} \right| \right) = 0 \end{aligned}$$

Hence $(x^{mn}) \in 2bv^0$.

Now,

$$\begin{aligned} \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} |a_{mn} x_{mn}|^r &= \sum_{m=1}^{\infty} \sum_{k=1}^{\infty} \left(\sum_{n=n_k}^{n_{k+1}-1} |a_{mn} x_{mn}|^r \right) \\ &= \sum_{m=1}^{\infty} \sum_{k=1}^{\infty} \left(\sum_{n=n_k}^{n_{k+1}-1} |a_{mn}|^r \cdot \frac{1}{k^r} \right) \\ &= \sum_{k=1}^{\infty} \frac{1}{k^r} \left(\sum_{m=1}^{\infty} \sum_{n=n_k}^{n_{k+1}-1} |a_{mn}|^r \right) \\ &> \sum_{k=1}^{\infty} \frac{1}{k^r} \cdot k^r = \infty \\ &\Rightarrow \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} |a_{mn} x_{mn}|^r = \infty \end{aligned}$$

$$\Rightarrow (a^{mn}) \notin (2bv^0)^\eta$$

$$\text{Hence } (2bv^0)^\eta \subset 2I^r$$

$$\text{Therefore, we get } (2bv)^\eta = (2bv^0)^\eta = 2I^r$$

Furthermore,

$$\text{Since } [(2bv)^\eta]^\eta = (2bv)^\eta = (2I^r)^\eta = 2I^\infty \neq 2bv$$

$$\text{and } (2bv^0)^\eta = [(2bv^0)^\eta]^\eta = [2I^r]^\eta = 2I^\infty \neq 2bv^0$$

Therefore, the spaces $2bv$ and $2bv^0$ are not perfect.

Theorem 4. $(2\sigma)^\eta = 2I^r$. The space 2σ is not perfect.

Proof : Since, $2\sigma \subset 2I^\infty$

By Lemma 1 (ii) and theorem 1,

$$2I^r = (2I^\infty)^\eta \subset (2\sigma)^\eta$$

conversely let $(a^{mn}) \in (2\sigma)^\eta$

Then $\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} |a_{mn} x_{mn}|^r < \infty$ for all $(a^{mn}) \in {}_2\sigma$.

Define a sequence (x^{mn}) as

$$x^{mn} = 1 = -x^{m+1, n} = -x^{m, n+1} \text{ for all } m, n \in \mathbb{N}$$

Then $(x^{mn}) \in {}_2\sigma$.

$$\text{and hence } \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} |a_{mn} x_{mn}|^r = \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} |a_{mn}|^r < \infty$$

$$\Rightarrow (a^{mn}) \in {}_2I_r$$

Therefore, $({}_2\sigma)^\eta \subset {}_2I_r$.

Thus, we get $({}_2\sigma)^\eta = {}_2I_r$

Furthermore,

$$\because \text{since, } ({}_2\sigma)^\eta = [({}_2\sigma)^\eta]^\eta = [{}_2I_r]^\eta = {}_2I^\infty \neq {}_2\sigma$$

Then, the space ${}_2\sigma$ is not perfect.

Theorem 5. $({}_2\omega p \cap {}_2I^\infty)^\eta = {}_2I_r$. The space ${}_2\omega p \cap {}_2I^\infty$ is not perfect where $0 < r \leq 1$.

Proof. Since $({}_2\omega p \cap {}_2I^\infty) \subset {}_2I^\infty$

By Lemma 1 (ii) and theorem (1),

$${}_2I_r = ({}_2I^\infty)^\eta \subset ({}_2\omega p \cap {}_2I^\infty)^\eta$$

conversely, Let $(a^{mn}) \notin {}_2I_r$

$$\Rightarrow \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} |a_{mn}|^r = \infty$$

Define a sequence (x^{mn}) as

$$x^{mn} = 1, \text{ for all } m, n \in \mathbb{N}$$

Then, $(x^{mn}) \in {}_2\omega p \cap {}_2I^\infty$

$$\text{But } \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} |a_{mn} x_{mn}|^r = \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} |a_{mn}|^r = \infty$$

$$\Rightarrow (a^{mn}) \notin ({}_2\omega p \cap {}_2I^\infty)^\eta$$

$$\text{Hence } ({}_2\omega p \cap {}_2I^\infty)^\eta \subset {}_2I_r$$

Thus, we get $({}_2\omega p \cap {}_2I^\infty)^\eta = {}_2I_r$

Furthermore,

$$({}_2\omega p \cap {}_2I^\infty)^\eta = [({}_2\omega p \cap {}_2I^\infty)^\eta]^\eta = [{}_2I_r]^\eta = {}_2I^\infty \neq {}_2\omega p \cap {}_2I^\infty$$

\Rightarrow The space ${}_2\omega p \cap {}_2I^\infty$ is not perfect.

Remark: From theorem (1), (2), (3), (4), (6). It is obvious that

$$({}_2I_\infty)^\eta = ({}_2c^R)^\eta = ({}_2c_0^R)^\eta = ({}_2bv)^\eta = ({}_2bv_0)^\eta = ({}_2p)^\eta = ({}_2\omega p \cap {}_2I_\infty)^\eta = {}_2I_r$$

REFERENCES

- [1] Ansari and Gupta : η -duals of some sequence spaces (Communicated for publication)
- [2] Basarir M. and Sonalean O. 1999. On some double sequence spaces, J. Indian Acad Math. 21 (2):193-200
- [3] B.C. Tripathy and B. Sharma. Generalized Köthe-Toeplitz dual of Some double sequence space.
- [4] Brownich T.J.IA. 1965. An introduction to the theory of infinite series macmillan & co. Ltd., Newyork.
- [5] Cook R.G. 1955. Infinite Matrices and Sequence spaces, Dover Publ.
- [6] Hardy G. H. 1917. On the convergence of certain multiple series, Proc. camb. Phil. Soc., 19 :86-95
- [7] Kamthan and Gupta. 1981. Sequence spaces and series, Marcel Dekker New York.
- [8] Köthe G. And Toeplitz O. 1934. Lineare Räume mit unendlichvielen koordinaten and Ringe unenlicher Matrazen, J.F. Reine U. Angew Math. 171:193-226.
- [9] Lascarides C.G. 1971. A study of certain sequence spaces of Maddox and a generalization of a theorem of Iyer, Pac. Jour. Math. 38(2):487-500.
- [10] Maddox I.J. 1969. Centinon and Köthe-Toeplitz duals of certain sequence spaces, Proc. comb. Phil. Soc. 65 :431-435
- [11] Morac z F. 1991. Extensions of the spaces c and c_0 from single to double sequences Acta Math. Hung., 57 (1-2) :129-136
- [12] Okutoyi J.I. 1992. A note on generalized Köthe-Toeplitz duals, Acta Math. Hungarica, 3-4:291-299.
- [13] P. Chandra and B.C. Tripathy. 2002. Indian J. Pune appli Math. 33(8); 1301-1306.
- [14] Tripathy B.C. Choudhary B. and Sharma B. 2008. Some difference double sequence space defined by orlicz function, kymgpook Mathematical Journal, 48 (4) (in press).